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Gaussian distributionsGaussian distributions

• Generate 10000 gaussian distributionsGenerate 10000 gaussian distributions, 
each with 10000 entries.

• Plot mean mean90 rms and rms90• Plot mean, mean90, rms and rms90
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  Mean : 0.78922 
  Rms : 6.3253E-3 

RMS90

entries
650

  Entries : 10000 
  Mean : 5.6960E-7 
  Rms : 0.013329 

Mean90

550

600

650

500

550

600

400

450

500

400

450

500

300

350

400

250

300

350

150

200

250

150

200

0

50

100

0

50

100

distribution rms90
0.77 0.78 0.79 0.80 0.81

distribution mean90
-0.06 -0.04 -0.02 0.00 0.02 0.04 0.06



FeaturesFeatures

• Mean and rms of distributions asMean and rms of distributions as 
expected: generated correctly

• Mean90 distribution larger error than I• Mean90 distribution larger error than I 
expected
R 90 789*• Rms90 = .789*rms



• Compare rms and rms90 in the ZmassCompare rms and rms90 in the Zmass 
residual plots using ZZ->nunuqq events at 
500 GeV for various reconstructions500 GeV for various reconstructions 
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CommentsComments

• Rms90 is used to compare distributionsRms90 is used to compare distributions 
without large non-gaussian tails 
dominatingdominating.

• Rms90 is NOT and was never intended to 
be the resolutionbe the resolution.

• If you want to eliminate the effect of the 
l t il d t l tilong tails and quote a resolution, 
rms90*1.25 is a reasonable estimate.


